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Example f(x)=(X_3)?+2
we know that

This is vertex four.Henslowe knowthethe vertex is[3,2). let,
SeethathemethodSoonerworks too.
For y.o

we choosefor=11
NextWCfindthe values of xSuchit
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Howtowe find the teasgraphically?_

1) We plotthe function{e.s. usinggeogebra]
2)Wefindthe where thefunction crosses

the \" axis
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g Ihe function^ gdoes not
cross the X-axis
Home,ithïTS NO zeros



Example: -graphby handIuse graph to solve equation
a)g(X)..-X +5x +14 .x?+5Xt 14=0xSix):ï[ ]
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get)-1-1574514)HY- = -1-5HYÄ8)[
sin=n)^+5/il414=#5+14=718C

I

: :

x

x

-._ . . ï \ . .x

WC know it goesdownward
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g(2)=-12t#5/27414*-4+10414=20
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gf2) =-1-272451-2>+14=-YtottyÄ0]ï
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